R VCE & PDF https://lwww.geekcert.com/pegapcssa80vl_2019.html
' 2024 Latest geekcert PEGAPCSSA80V1_2019 PDF and VCE dumps

GeekCert.com Download

PEGAPCSSAS80V1 2019%°%As

Pega Certified Senior System Architect (PCSSA) 80V1

Pass Pegasystems PEGAPCSSA80V1 2019 Exam
with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://lwww.geekcert.com/pegapcssa80vl 2019.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by
Pegasystems Official Exam Center

After Purchase

Guarantee

Free Update SKTISFACTION GUARANTEE
Satisfied Customers

Q00O

Latest PEGAPCSSA80V1_ 2019 Dumps | PEGAPCSSA80V1 2019 PDF Dumps | PEGAPCSSA80V1 201B/ 4
Practice Test


https://www.geekcert.com/pegapcssa80v1_2019.html
https://www.geekcert.com/pegapcssa80v1_2019.html
https://www.geekcert.com/pegapcssa80v1_2019.html
https://www.geekcert.com/pegapcssa80v1_2019.html

VCE & PDF https://lwww.geekcert.com/pegapcssa80vl _2019.html
2024 Latest geekcert PEGAPCSSA80V1_2019 PDF and VCE dumps

GeekCert.com Download

QUESTION 1

Which component do you use to decide between two decision logic paths in a decision strategy?
A. Decision Tree

B. Switch

C. Filter

D. Set Property

Correct Answer: D

Reference: https://community.pega.com/knowledgebase/articles/creating-decision-strategies-headless-decisioning-
scenario-pega-718-pega-721

QUESTION 2

A global application with infrastructure nodes located throughout the world requires certain operations to start executing
at midnight GMT. Select two possible designs for this use case. (Choose two.)

A. Use the Run in background step in the case life cycle and design a dedicated queue processor.
B. Use the Queue-For-Processing method in an activity and design a standard queue processor.
C. Use the Queue-For-Processing method in an activity and design a dedicated queue processor.
D. Use the Run in background step in the case life cycle and design a standard queue processor.

Correct Answer: BD

QUESTION 3

You have identified an activity that does not perform well. You need to find out exactly what steps are causing the
problem. Which tool do you use?

A. Pega Log Analyzer (PLA)

B. Performance Profiler

C. Database Trace

D. Performance Analyzer (PAL)

Correct Answer: D
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QUESTION 4

An application has the following application rulesets:

Expenses:02-01 TGB:02-01 TGBCatalog:02-01

A rule with an Apply to: class of TGB-Expenses-Work-Reimbursement references a rule named PopulateLineltems. The

six instances of PopulateLineltems in the rules cache are shown in the following table.

Apply to: Ruleset : Version Availability
TGB-Expenses-Work Expenses:02-01-05 Withdrawn
TGB-Expenses-Work Expenses:02-01-03 Available
TGB-Expenses-Work TGBCatalog:02-01-05 Mot Available
TGB-Expenses-Work TGBCatalog:02-01-03 Blocked
TGB-Expenses Expenses:02-01-03 Final
TGB-Expenses TGBCatalog:02-01-05 Available

Which rule is chosen by Rule Resolution?

A. TGB-Expenses.PopulateLineltems (TGBCatalog:02-01-05)

B. TGB-Expenses-Work.PopulateLineltems (TGBCatalog:02-01-05)
C. TGB-Expenses-Work.PopulateLineltems (Expenses:02-01-05)
D. TGB-Expenses-Work.PopulateLineltems (TGBCatalog:02-01-03)
E. TGB-Expenses-Work.PopulateLineltems (Expenses:02-01-03)

F. TGB-Expenses.PopulateLineltems (Expenses:02-01-03)

Correct Answer: D

QUESTION 5

Which two design configurations limit the need for horizontal scrolling when an application is used on a mobile device?
(Choose two.)

A. Use grid layouts rather than repeating dynamic layouts to display tabular data.
B. Set the importance for columns in repeating dynamic layouts.

C. Limit text fields to a width of 200 pixels.

D. Set the width for layouts in percentages.

Correct Answer: BD

Reference: https://community.pega.com/support/support-articles/horizontal-scroll-bars-mobile-devices
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